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Answers to Student Book text questions
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CH3I + NH3   CH3NH2  + HI


methylamine





CH3I + CH3NH2   (CH3)2NH + HI


dimethylamine





CH3I + (CH3)2NH  (CH3)3N + HI


trimethylamine
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There is only one carbon atom in iodomethane, and two carbon atoms are needed for


elimination.
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It is difficult to get a single product because of other reactions (see Q2).





Carry out the reaction with an excess of ammonia.
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1    Equal amounts of reactants, same temperature, same time.





2    Elimination.





Chapter 2.9
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1    Substitution.





2    Hydrolysis.
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High temperature and/or ultraviolet light.





2





Nucleophile.
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Nucleophile.
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1    B. Changing the concentration of hydroxide ion alters the rate of reaction. This change has no effect on A.





page 229





1    The ozone hole is smallest during the winter, then enlarges over spring and summer before shrinking again. This is linked to the mechanism which causes the depletion


of the ozone in the atmosphere because the reaction which increases the breakdown


of ozone is the homolytic fission of CFCs, producing an excess of free radicals which


in turn cause the breakdown of the ozone. The fission of the CFCs is catalysed by sunlight – so during the Antarctic winter, when there is no sun, ozone builds up as
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